M
J-Ejr‘ R

MEEATEREABHEFEEFERL T &

He W] 3e bk - 9T0T1 4L & 1 & 38 = 27035
AR BOA R

B8 E3E:40510777442013

% A:03-8572890

XXE : REFRUMBMEAREKRE

HFxBH: PERRAITH8A158

X303k 2 (107) &mF$1070000684 3%

B EE

FFRMESSE - L4

A

FE AN LEERAMHMAERLRLECRET G - HBHEEFEERE
LERBHEFEHAFREALELANITRZIAFTE  Foi
B » FHEBILRATE 408B -

3R 8g

— BB HHEHLEWLT » EH2F

(—)2RBe AHFFER(EB ) -L£EEHTKk BF
SRR = S P(BF)=F  BREFGERLE
F-RFEEB)-F -BFRE(BREB)I-HF - L&E
(B3R )I=—HZ a7k -

(Z)hHFAEABEBRRELE  HFEL T (EHR)=EH5EHR
ﬁ"F{ fm‘fﬁﬁ(&ﬁ)’f—-% &ha%(ﬁfﬁ)‘f-—-%éﬁ‘fi‘aq
PATREAMEFEA=(ER)I=—F  REF(E)I=F
s REBRGEE)=-FHEEAEINRITE °

(E)HEBEHFTEALE  HHFBRE(AB)=E8ENR
TR HAAL(ERI=-HF HREH(EAR)I=-%- -2%
AT =% -FHBZ(AB)=F - FEHEH)I-
HHIESPITK °

(w)dbhel 5 € TCEFHAS (BB ) =FREPRTEK KA
EFUEE)FHF B F(AR)1-F  REX(RE)
L%%Eﬂhﬁ&

(B) X o5 FHEHEN L=EEERTE 1%‘
T £ (# 4 )1’% HRBEHECGEE ) —F - FZLF(AR)
I=—FFAE ) PIT R AV I (Mg ) =3 - fnéiﬂi
(#fo)=F LB AREBPITK °

AR
#I1A AR [M =¥ O??Z{f’ﬁ_j




—
e

L -
RFFM -

(R € LHFHBA (B ) =-HFHEEHTRK - BK
B(EHEV=—F THE(RF)=HHEFIHITE -
(E)MEFEAL>E AFERLH(BRR )-HHEIRTK A
BEHEGEP-EH DT RABRAEE(ES )=
HHEAESRTK °

(N)EFRZE FTGFRAB(EE)=-HHERITER  EF
(AR =HFREIPTRAHEZEX(EY I=F
HE AL HITK -

(M€ FTCFRALELI ) =82 TK R
BOER)=H A EZBR(EE ) LR ERTERN
B AR (B )= ~ 4R (A8 1=F £ R A al
PAITEK -

(PiERbo & TFEARRFERV-FHERITK §
BE (FR) L%ﬁﬁ&amwﬁ

(+)ERmET»E I FFLER(BR) ) =HEEHTEK
BEMEH I =F T2 EAGER I =F &kA& (&
1§ ) =F £ E AL S iTRK -

CREBREEPTRESEGES ) =H - BIREGER)=

# >~ REFACEL =F - RABHK (EB) =4 ~ 45 H
(BF)=& RETR(EF)=F -#HFR(BAFP)=% %
FH(BB=F  RFRCGER=A > HIERHMAAE
FEUR > RABCEHE  HERMPER > RREEFS
ERMBREAK  LRACHAL BT HREK -

=~ BEMAEE 83T R B AN AKE jﬁiﬁﬁﬁ?*ﬁi BB R

SBWMAB)  HFFCAKEHR > AR TS PR ER
ﬁﬂJiﬁ#”ﬂ¥@Ekhﬁ 14 ﬁ”%%ﬁﬂﬁ
R AR PIAR S o v

EXAFEMBRELEM  BAE 0 AMB(F L LALTRLAET X E)
BAAEFTHR - AXESERRRE %ER - -MBR - ANARR

ir

22 «7; % ’E‘ /ﬁfwmmm na

IR HA2ZR

i



